NOUN Exams Past Questions

Question
Excretion in living things is resultant from

Answer
cell activites in the cytoplasm

Question
Which of the following is not a character of living things?

Answer
crying

Question
Growth in a multicellular organism

Answer
increases the number of its cells

Question
Growth in a unicellular organism

Answer
increases its protoplasm

Question
Every living cell is made up of

Answer
protoplasm

Question
There are ---—-—- aspects of metabolism

Answer
two

Question
Metabolism is

Answer
chemical process

Question
Metabolism is a process carried out by



Answer
leaf

Question
The main reason for assimilation is to

Answer
maintain life

Question
Which of these statements is most correct?

Answer
Animals depend on plants for food
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